A £ 0l & AF & & Al

20238 =0 & EHASKGNALMEE2H A

A

A= Xl B M A SN - OIMAH
M UHAIMESHL DB Y
S URKALSHUAXAANS (L ASTENAALDHMELSH) (Ste: &)
AT .24 - FH . C(BH) - MBAY - BAS Ofl Ao dels HDE2
a=-=F 5. TAE - 8BS % 0ol &2 S2
2Lxel A MA 9,860,521 9,468,831 391,690
= 3,907,000
o= 5,953,521
Ol A2 H Dt 9,860,521 9,468,831 391,690
= 3,907,000
& 5,953,521
HUEXNMSEHLD|BIES 9,860,521 9,468,831 391,690
2 3,907,000
= 5,953,521
MRS SELX A (ZHASKA A LN SE 9,860,521 9,468,831 391,690
=Ip: (D)
= 3,907,000
& 5,953,521
(IS DNPgE=Pi=TPN I E=p| 4,868,471 3,983,631 884,840
403 AMXSHMSK=0| A 4,868,471 3,983,631 884,840
01 IXISHHAE2EX 4,868,471 3,983,631 884,840
OIS AIDIA DI SS XS R J AL 1,988,471
CPGAS MEEH T B2 AL (RHAI) 2,880,000
MOISIEAAI SN A 334,950 397,200 A62,250
308 AFXISHMSOI ™ 334,950 397,200 A62,250
01 IXHAMBAEEZ 334,950 397,200 N62,250
CMBISIIAHE XIS D (EHOIHZ) 2SS ALY 111,150
CIPAAISAIE N 22 | CHEH K| & A 159,000
OAAZOIJIAAZAIEINSEAIS 64,800
LPGAE NAEI(EX) 3,920,000 4,880,000 960,000
= 3,340,000
= 580,000
403 X XISHS K201 A 3,920,000 4,880,000 960,000
= 3,340,000
= 580,000
01 XIS A=E2EX 3,920,000 4,880,000 960,000
CLPGAE M I EZAIE (EX) 560,000
= 400,000
& 160,000
CPGASE A B SAIH (EEXH) 3,360,000
= 2,940,000
& 420,000
LPG2IIAIZIIRAIZIHEAIE (EX) 737,100 208,000 529,100
= 567,000
= 170,100
308 XHXISHHSOI™ 737,100 208,000 529,100
= 567,000
= 170,100
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Ve P=E= Y EIBIIETE =
DO RA S L UTI RAI (L ASKI A KR AILHSE 3] H) (o9 mel)
Al (=) X xH ol ( 3 = (o] (==} OH al‘—jE =2}
A 24 - F3H - HA(S) - HRAY - BLES Oil &F4 Oll Ao HwsZ
01 UXISHHBABES 737,100 208,000 529, 100
CLPGRIIARIITAIE R AT (2 X) 737,100
= 567,000
= 170,100




SGIEREEE

o NSARAENSLSIH) EERED
2 2A - ZE - B(E) - ARAY - BaS ofl &ty T HIDE2
SHMNF A= 5,221,231 6,406,549 A1,185,318
SHBF 5,221,231 6,406,549 1,185,318
HOI SR =82 ATH HHE A 5,221,231 6,406,549 1,185,318
A IR (LAASKIANRAALASLSIH) 5,221,231 6,406,549 1,185,318
=2 mAAIL 521,231 406,549 114,682
101 Q1244 182,442 174,215 8,227
04 D122 RS2 182,442 174,215 8,227
OS2I a2 AIRIA Y] 182,442
OZAgso2 76,9602 %52 250 96,200
OfY224% 76,9602 x5 H+51 19,625
OF&+H 76,9609 x5 +51 19,625
OeiRt4g 76,9602 x5 x 11 4,233
Oos3sY 76,9602 %52 x 13 5,003
OAl| 86,0002 52 x50 7,500
OREHI 3,000 x5 x250 3,750
O=l=3 2,500,000 x5 12,500
OtNE 5 2O+ B S65)
300, 0002521 x13] 1,500
O4U =8 12,506
201 L2y 68,765 4,360 64,405
01 At22+21HI 68,215 4,360 63,855
ALt 2H| 67,855
OANREELSEIULI 4,000
OFax gl 22eds ey 3,000
O%F I 2PN SH AT S YA
37l 1,800
OHHZ24 1 H Al e 55
OSAINAHHER HHM NS M A L A
HAHANES 15,000
OLAIIAHHER HHM NS S E M AL A
HAEMAEB S22 20,000
OmoIe4 24,000
Ozt 360
OF%I|YUxE 360
02 B22%H| 550 0 550
02229 550
OS2 AHHEHHHAI R 5] 550
207 1R 220,000 180,000 40,000
01 HREAH| 220,000 180,000 40,000
Ogesemnas ABIRAIH PR
o 220,000
308 XHXIEHHIS Ol & 50,024 47,974 2,050
01 RSB ALEZ 50,024 47,974 2,050
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= SsiNEER A XA ot
M MY REUIIEEA
Chelt XA S AR A (LHASTIH T A LHSE S H) CEE)
4224 - BB S9(3) - MIRAY - BES ofl &ty T HIDE2
sSsoild== 100, 163,248 105,335,620 Ab5,172,372
= 1,080,000
Jl 6,221,323
= 92,861,925
Ol LA X4 10t 27,769,227 32,445,770 A4,676,543
= 1,080,000
Jl 6,221,323
= 20,467,904
HUXdEELdRIIe e 20,769,227 25,445,770 AN4,676,543
= 1,080,000
Jl 6,221,323
= 13,467,904
MURMHS LA (LHASXARNIALMEE 12,864,227 10,670,770 2,193,457
3I)
= 1,080,000
Jl 1,221,323
= 10,562,904
AITHA O R =HCH D1 B R A AL 1,127,663 802,143 325,520
Jl 898,323
=S 229,340
401 AlZHIZL SO 458,680 135,454 323,226
Jl 229,340
S 229,340
01 AlZHI 458,680 135,454 323,226
CIAITH A0 LA R ZHCH D1 BEE L AL (AR A S) 458,680
Jl 229,340
S 229,340
403 XM SAH=0lA 668,983 355,944 313,039
7l 668,983
01 HXIEHMA=E XL 668,983 355,944 313,039
L& TH Ol K =HTHO | 2H = G ALY 668,983
) 668,983
AITHA ORI E S AL 738,000 450,000 288,000
201 Zer2d| 20,000 0 20,000
01 AtR2t2lbl 20,000 0 20,000
OgEAFHIAXAASHEE XA 20,000
207 SR 368,000 368,000
02 & AR HI 368,000 368,000
DTN K SE 2 el Al A B D ESAH 168,000
COIG0UXIEEA A= 200,000
307 212t01 & 200,000 400,000 200,000
02 QItH A EE X 200,000 400,000 A200,000
O&TH O KA DHE &N AL 200,000




a2 sEgRoes A UKD
HE: XM SHUIIBEY
el OILIIASAL KA (BRASSTRAILHMSZ3IH) CEE)
AR . 2B S(BH) - HRAY - BES ofl kot ddx MimE=E
d= - A - 34 = 45 . 03l & =
308 X XISHHSOI™ 30,000 30,000
11 SISO SHE A E ALSHI 30,000 30,000
CIATHAHHIU R RAS KA 30,000
401 A EHIZE204Y] 120,000 20,000 100,000
01 Al&H| 120,000 20,000 100,000
O33I1 20U HXI &I SHARS 20,000
LA THAH Ol LA KT =2H R AT A BV A XA 100,000
AMTHMN AKX ESAI (2RI E X)) 2,142,893 1,497,338 645,555
403 [ XISHS K201 A 2,142,893 1,497,338 645,555
01 AXISH A =2E X 2,142,893 1,497,338 645,555
CIAI THAH Ol LA K| Z=E KT A 898,451
CIAITHA U XA S KA 1,244,442
Ol LA KT AL ZH CH A 200,000 200,000
403 AMXSHHMS K20l A 200,000 200,000
01 IXISHHAE2EEX 200,000 200,000
CIAIZHIE XA ZE A K& 200,000
HUEH X = 150,000 100,000 50,000
307 QI2+0| & 100,000 100,000 0
04 DIZ2FSHALAIE E & 100,000 100,000 0
[J=oHOHIH K2 AHEH 100,000
308 XXISH SO0 ™ 50,000 50,000
11 SI2SHCHSHE A A P EF A I 50,000 50,000
OOelfU X SHASTH 50,000
Ol KU A TZSHALK S 300,000 250,000 50,000
307 212+01 A 250,000 200,000 50,000
04 CIZFSHAMAIE E X 250,000 200,000 50,000
CI=Z M O2I0 XU A TZSHALK R 100,000
OIS oI =2 & D | AP A I K| 150,000
308 X XISHHSOI ™ 50,000 50,000
11 SISO SHE A AE AIH B 50,000 50,000
S XI ALK 50,000
HURIMESHUXRAFR 580,000 582,000 A2,000
201 B2 AHH| 200,000 200,000 0
01 AtR2tel b 200,000 200,000 0
[Yet~ZH| 200,000
ORI B LU A THANHKIAIE E &2 200,000
307 QI2+0| & 56,000 56,000
02 DIZHH AAIH 2 X 56,000 56,000
CIAL2I S XIAIE & | KHoH Ol 2 AP (B12F) 56,000
308 X XISHHSOI™ 324,000 382,000 A58,000
11 SI2SHCHSHE A P EF A I 324,000 382,000 A58,000




D BEHNYEER SN OILITI AT
= EVIEpNEVELTBIETE =
SRl LKA S LN RAIS (EHASKARRAILNSESIH) (el mgl)
4. 2A - ZH - O9I(B) - MEAND - BES of & ST HBS2
(I3 A1 X181 4 0| 25 523 X 300,000
CIAFBIS RIAIE I THBH 0l AL (2012) 24,000
OILIXI & ot At 266,670 265,500 1,170
403 XEXISHHIS XH2 01 & 266,670 265,500 1,170
01 MRS =2 266,670 265,500 1,170
= XIAIZ 0L X B A 266,670
ATHA LK S S8 X R AL (IR E IR 4,197,827 4,489,889 A292,062
403 XEXISHHI S X+ 0| ® 4,197,827 4,489,889 A292,062
01 XIS =S 4,197,827 4,489,889 £292,062
CIAITHA O L1 X S = 8K R A 4,197,827
PEHTI|TED 1,860,000 1,919,900 259,900
2 1,080,000
= 780,000
403 XEXISHHIS XH2 01 & 1,860,000 1,919,900 259,900
= 1,080,000
= 780,000
01 XX =2 E 1,860,000 1,919,900 259,900
mEEEEPEE 1,860,000
= 1,080,000
= 780,000
ATHA I X RLIE A AR 2= 113,574 114,000 A426
403 XEXISHHHIS XH2 0l ® 113,574 114,000 £426
01 XX =2 E 113,574 114,000 £426
AT A O X @ UIE 2 AT A B & X U b 113,574
DTFCEAYRNEY 600,000 600,000
403 XEXISHHIS XH2 0] & 600,000 600,000
02 I HS OB RHE X 2| A 600,000 600,000
JR2FcEAAT N 600,000
ST IEPNE=EAEES 200,000 0 200,000
308 XHXIHHISO0I & 200,000 200,000
11 I 2SI B AR IS A bl 200,000 200,000
(10124 0MILA X1 2 2H21 A ST XI X1 24 AbeS 200,000
CRITAHAATANGTEAY 387,600 0 387,600
p 323,000
< 64,600
403 XHXIEHHI S XH2 0 & 387,600 0 387,600
| 323,000
= 64,600
01 IXISHH K2 E 387,600 0 387,600
mECEEREEEE R 387,600
p 323,000
= 64,600




A= gsoigER
M HUHAMSFESRI|gtEd

M HEX A

CHOl: ORI AP 2R AE EA (ST ASKI AR AI LM SL ) CCHE)
A2 2A - O(SH) - HRAY - B2 ol &k ST Bl RS2
HUK ML ZAAH TS (LM LASTNARAALENS L3 7,690,000 14,775,000 AT,085,000
)
| 5,000,000
= 2,690,000
(IS PPN geak = ===l NP 3,500,000 9,275,000 25,775,000
J| 2,000,000
& 1,500,000
403 RtXIEHMIS AH=01 & 3,500,000 9,275,000 Ab, 775,000
| 2,000,000
& 1,500,000
01 kXIS A A2 2 & 3,500,000 9,275,000 Ab5,775,000
IO A X A 2 B = B EF R BB XI 2 M B AL
A 3,500,000
| 2,000,000
= 1,500,000
FAAZHXASHHREXS(EBX) 3,400,000 4,500,000 A 1,100,000
J| 3,000,000
& 400,000
403 RtXIEHMIS AH=01 ™ 3,400,000 4,500,000 1,100,000
| 3,000,000
& 400,000
01 XkXISH A A= 2 & 3,400,000 4,500,000 A 1,100,000
O=2HSEXASHEHASXRAA 3,400,000
| 3,000,000
& 400,000
TAHZET|CISHEHPSAIY 180,000 180,000 0
308 XXIEMSO0IA 180,000 180,000
01 AIXHMBAEEF 180,000 180,000
O=AHSEXISHEHASAIY 180,000
FAMABSESSIHAAL T AMS (SN XH) 50,000 50,000 0
307 glztol ™ 50,000 50,000
02 QItZAIAIRI E X 50,000 50,000
O=eAdtd s =8 olE 28 X3 AN 50,000
MAXE S AL DI 2NL (=1 E 60,000 50,000 10,000
X&)
308 XtXIEHMIS Ol & 60,000 50,000 10,000
11 3N 2SUHHE 3 AERE AL 60,000 50,000 10,000
DM XN E = SAL MR 2| IHE D =H
& 60,000
SSLASUHAHUTH L LA (SR ERIH) 500,000 500,000
308 XXIEHMIS Ol & 500,000 500,000
11 SIS HEE A EAEALS I 500,000 500,000
O2GASEESHAHI TS A ALY 500,000
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: §F56HIIO"E:’

(EEASKNATAANEHNS L) CHe X))
L RA - B S9I(S) - HRAES ST HIDS2
ZH 72,394,021 72,889,850 A\495,829
SEFHIg Y 51,944,320 51,510,320 434,000
ASHLRNIAMS (LELASXATRALMELES 51,944,320 51,510,320 434,000
FSEAINE=-PNSEPNE=P M=) 48,980,000 48,856,000 124,000
308 AHXISHHMS0IH 48,980,000 48,856,000 124,000
04 Al - 2XZuWES 48,980,000 48,856,000 124,000
OSZAE2 XSGR AIEA 48,980,000
Gk ])e] 800,000 800,000 0
801 OilHIH] 800,000 800,000
(==l 800,000 800,000
QJongisl 800,000
rePNERalge bl R ,634,320 1,304,320 330,000
201 2=l 220,000 100,000 120,000
01 AbR 22l 220,000 100,000 120,000
et~ 220,000
OSditAXEZFMEE 200,000
O XA 2 20| 2 XHH| = 20,000
203 PR =] 4,320 4,320
03 AIFT AR =AY 4,320 4,320
Oasgsges=a 4,320
307 212+01 & 400,000 400,000
02 It BMAIEE X 400,000 400,000
IE-DNERS el Ebe 2PN d2s PNt 400,000
308 AHXISHHMSO0IH ,010,000 800,000 210,000
01 HXSHHBSEES 810,000 650,000 160,000
2SS L A2 SR 650,000
OaXtEs e FA S =202 X3 10,000
L12023= M A 0l A At & X2 150,000
N SIS USHESH?AE AL 200,000 150,000 50,000
Oadae) a3 U otAre 200,000
WM AS XS =S 530,000 550,000 /20,000
308 AHXISHHMS0IH 530,000 550,000 /20,000
1 SI 2SS & HAS AL 530,000 550,000 A20,000
G PSke) by Falgss Eopash=: ol hetboges 30,000
O SN MDI =N X2 500,000
XL THH =& 301,000 256,150 44,850
ANRLMUH LA s NSEH2S (LHLSNANE 301,000 256,150 44,850
ANERSESIA)
A EHMS TR E S A 301,000 256,150 44,850
201 Zer= gl 160,000 220,000 60,000
01 At22teltl 160,000 220,000 260,000
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23 (F s3]
Jl2g(EEASKSA CHel &)
MR- 2A - B BI(E) - ARAY - B ST 5
02 =294l 9,800 9,500 300
022232 HAl 1,800
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Wb Fak] 8,000
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24,700 24,700
24,700
3,000 3,000
3,000 3,000




